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POLITY 
1.Assertion (A) The Government of Indi Act, of 

1858 transferred the Governance of India from 

the East India Company   to the Crown. 

Reason (R) The East India Company was 

unwilling to administer India any more.  

Codes 

(a) Both A and R are true and R is the correct 

explanation of A 

(b) Both A and R are true, but R is not the correct 

explanation of A 

(c) A is true, but R is false 

(d) A is false, but R is true 

2.Which one among the following is an incorrect 

statement about the Constituent Assembly?  

(a) It worked with the help of a large number of 

committees, the most important among them 

being the Drafting Commiittee. 

(b) Minority communities like Christians, Anglo-

Indians and Parsis were adequately represented in 

the 

Assembly. 

(c) It was elected on the basis of Universal 

Adult Franchise. 

(d) Its electoral process was based on the sixth 

schedule of the Act of 1935 which allowed for a 

restricted franchise based on tax, property and 

educational qualification. 

3.Which of the following are adopted from 

Australian Constitution? 

I. Concurrent list 

II. Freedom of trade 

III. Freedom of commerce 

IV. Procedure for amendment 

Choose the right answer from the 

following codes. 

(a) II and III 

(b) I and IV  

(c) I, II and IV 

 (d) I, II and III 

4.What is the tenure of the Chief Election 

Commissioner of India? 

(a) Five Years 

(b) During the pleasure of the President. 

(c) Six years or till the age of 65 years whichever 

is earlier. 

(d) Five years or till the age of 65 years 

whichever is earlier 

5.Which one of the following criteria for deciding 

an urban area, according to census of India, is not 

correct?  

All places with  

(a) either a Municipality or Corporation or 

Cantonment or Notified Town Area Committee. 

(b) a minimum population of 5000. 

(c) at least 60% of the male population 

engaged in non-agricultural pursuits. 

(d) a density of population of at least 400 persons 

per square km 

6.Consider the following statements.  

I. Sarkaria Commission recommended that  

Governor of a State should be a non-political 

person appointed after consultation with the Chief 

Minister of the State. 

II. This could be achieved through amending 

Article-165 of the Constitution of India.  

Which of the following statements is/are  correct? 

(a) Only I 

(b) Only II 

(c) Both I and II 

(d) Neither I nor II 

7.Which one among the following pairs of level 

of Government and Legislative Power is not 

correctly matched? 

(a) Central Government– Union List 

(b) Local Government – Residuary Powers 

(c) State Government – State List 

(d) Central and State Government– Concurrent 

List 

8.Which one of the following statements is 

correct? 

(a) In India, the same person cannot be appointed 

as Governor for two or more states at the same 

time. 

(b) The Judges of the High Court of the States in 

India are appointed by the Governor of the State 

just as the Judges of the Supreme Court are 

appointed by the President. 

(c) No procedure has been laid down in the 

Constitution of India for the removal of a 

Governor from his/her post. 

(d) In the case of the Union Territory having a 

legislative setup, the Chief Minister is appointed 

by the Lt Governor on the basis of majority 

support. 

9.The Protection of Civil Rights Act, 1995 

extends to  

(a) whole of India 

(b) whole of India except the State of Jammu and 

Kashmir 

(c) Union Territories 

(d) only the State of Jammu and Kashmir 

10.Which of the following is the discretionary 

powers of President? 

I. To appoint Prime Minister to the leader of 

majority party. 

II. To summon the Parliament. 

III. To return a bill to the Parliament with 

objections. 

IV. To appoint the members of Council of 
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Ministers. 

V. To assent the bill referred by Governor. 

VI. To detain a bill 

VII. To ask the Prime Minister for such 

information related to any advise. 

VIII. To say Council of Ministers for 

reconsideration on any advise. 

(a) I, II, IV, VII (b) II, V, VI, VIII (c) I, III, VI, 

VIII (d) III, VI, VII, VIII 

 

GEOGRAPHY 
1. Which of the following statements regards to 

Rann of Katch is/are correct? 

I. The bulk of fossils unearthed in kachch 

has so far mainly marine organisms, due 

to their proximity to the Arabian Sea. 

II. The Great Rann of Kachchh lies 

completely in India. 

III. The Rann of Kachchh is famous for its 

white salty desert sand is reputed to be 

one of the largest salt desets in the world. 

How many of the above statements are correct? 

a) Only One 

b) Only Two 

c) All three 

d) None 

2. Which of the following district is the largest 

district in India by area? 

a) Mahe 

b) Bangalore 

c) Mumbai 

d) Kutch 
3. Consider the following statement 

I. Immigration:The process in which 

Migrants who move into a new place  

II. Emigration: The process in which 

Migrants who move out of a place  

Which of the above statements are correct 

a) Only one 

b) Only two 

c) Both I and II 

d) None 

4.First stage of Demographic transition Theoty 

represents 

a) High birth rate and high death 

rate 

b) High birth rate and low death rate 

c) Low birth rate and high death  

rate 

d) Low birth rate and low death rate 

5. Consider the following statement  

I. The human development report is 

released by united nations environment 

programmme 

II. It is released twice in a year 

III. Human development concept is given by 

mahbub ul  haq.   

Which of the following statements are correct 

a) Only One 
b) Only Two 

c) All three 

d) None 

6.Which one of the following is not correctly 

matched?  

(a) Santa Ana – California 

(b) Haboob – Sudan 

(c) Yamo – Japan 

(d) Mistral – Australia 
7.During a thunderstorm, the thunder in the sky is 

produced by the  

I. meeting of cumulonimbus clouds in the sky. 

II. lightning that separates the nimbusclouds. 

III. violent upward movement of air and water 

particles. 

Select the correct answer using the codes given 

below. 

(a) Only I 

 (b) II and III 

 (c) I and III 

 (d) None of these 

8.The epipelagic zone extends from the surface 

till the depth of 

(a) 1000 m 

 (b) 200 m  

(c) 500 m  

(d) 900 m 

9.When soil materials are removed from the 

elluvial horizon and deposited in the lower layers, 

it is known as 

(a) Laterisation 

 (b) Illuviation 

 (c) Leaching 

 (d) Eluviation 

10.Which of the following is true regarding 

agriculture? 

I. Agriculture is themost widely adopted 

occupation of the world. 

II. In developing countries, agriculture is a major 

contributor to GDP and employment. 

III. Agriculture developed only during medieval 

times. 

Codes 
(a) I and II 

 (b) I and III 

 (c) II and III 

 (d) All of these 

 

CURRENT AFFAIRS 

1.Everglades wetland restoration project is 

associated with which country? 
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a) Australia  

b) USA  

c) France  

d) Russia 

2.Which country’s Prime Minister has been 

named as the most popular leader in Global 

Leader Approval survey?  

a) China  

b) Japan 

c) India  
d) Australia 

3.The Union Budget announced a Mission to 

eliminate Sickle Cell Anaemia by which year?  

a) 2025  

b) 2030  

c) 2035  

d) 2047 
4.Which country’s Chief Justice is the chief guest 

of the 73rd foundation day of the Supreme Court 

of India? 

a) Bangladesh  

b) Singapore  
c) USA  

d) France 

5.Andhra Pradesh Chief Minister YS Jagan 

Mohan said the State capital would be shifted to 

which city? 

a) Kurnool 

b) Visakhapatnam  

c) Vijayawada  

d) Guntur 

 


